Year 1 Autumn 2 Maths Activity Mat 5

Section 1
The toys are now half price.
How much are they now?

Section 2
Harry has 3 marbles.

Jack has 2 more marbles
than Harry.

How many marbles does
Jack have?

Section 3
Fill in the missing numbers.

Section 4
Put a circle around the
longest pencil.

®

cm 2 4 6 3
S
Section 5 Section 6 Section 7 Section 8
Mia has 6 apples. Add together the number of How many bees are there
i ?
She shares them equally with sides. altogether: 6-1-=
her friend Lily. Count in 2s.
How many do they have each? 8-1 =
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Year 1 Autumn 2 Maths Activity Mat 5

Answers

Section 1
The toys are now half price.
How much are they now?

Section 2
Harry has 3 marbles.

Jack has 2 more marbles
than Harry.

How many marbles does

Section 3
Fill in the missing numbers.

~

Section 4
Put a circle around the
longest pencil.

o

Jack have? w2 3] 8 U
ALl
5 marbles
Section 5 Section 6 Section 7 Section 8
Mia has 6 apples. Add together the number of How many bees are there
i ?
She shares them equally with sides. altogether: 6-1=|5
her friend Lily. Count in 2s.
How many do they have each? 8-1=1|17
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Year 1 Autumn 2 Maths Activity Mat 5

Section 1
The toys are now half price.
How much are they now?

Section 2
Harry has 13 marbles.

Jack has 4 more marbles
than Harry.

How many marbles does
Jack have?

Section 3
Fill in the missing numbers.

.~

Section 4

Put a circle around the
shortest pencil.

|

®

cm 13 16 18 1
o
Section 5 Section 6 Section 7 Section 8
Mia has 10 apples. Add together the number of How many bees are there
i ?
She shares them equally with sides. altogether: 14 -1 =
her friend Lily. Count in 2s.
How many do they have each? 16 - 1 =
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Year 1 Autumn 2 Maths Activity Mat 5

Answers

Section 1
The toys are now half price.
How much are they now?

Section 2
Harry has 13 marbles.

Jack has 4 more marbles
than Harry.

How many marbles does

Section 3
Fill in the missing numbers.

.~

Section 4
Put a circle around the
shortest pencil.

|

.

Jack have? iz 18325, 17,
o
17 marbles k
Section 5 Section 6 Section 7 Section 8
Mia has 10 apples. Add together the number of How many bees are there
i ?
She shares them equally with sides. altogether: 14-1={13
her friend Lily. Count in 2s.
How many do they have each? 16 -1 =115
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Year 1 Autumn 2 Maths Activity Mat 5

Section 1
The toys are now half price.
How much are they now?

Section 2
Harry has 15 marbles.

Jack has 3 more marbles
than Harry.

How many marbles does
Jack have?

Section 3
Fill in the missing numbers.

~

Section 4
Draw 2 pencils.

Make one pencil longer than
the other.

®

cm 16 19 2;
S
Section 5 Section 6 Section 7 Section 8
Mia has 16 apples. Add together the number of How many bees are there
i ?
She shares them equally with sides. altogether: 19-1-=
her friend Lily. Count in 2s.
How many do they have each? - 17 -1 =
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Year 1 Autumn 2 Maths Activity Mat 5

Answers

Section 1
The toys are now half price.
How much are they now?

Section 2
Harry has 15 marbles.

Jack has 3 more marbles
than Harry.

How many marbles does
Jack have?

Section 3
Fill in the missing numbers.

~

17(|18 20((21

cm 16 19 2

Section 4
Draw 2 pencils.

Make one pencil longer than

the other.

Two pencils, one
shorter than the other.

18 marbles
Section 5 Section 6 Section 7 Section 8
Mia has 16 apples. Add together the number of How many bees are there
i ?
She shares them equally with sides. altogether: 19-1=18
her friend Lily. Count in 2s.
How many do they have each? - 17 -1 =16

® ..

11

11 bees
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